

# See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



## Form **990-PF**

Department of the Treasury

Internal Revenue Service

# **Return of Private Foundation**

## or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

2009

<u> </u>	or c	alen	dar year 2009, or tax year beginning		, and ei	nding			
Č	3 C	heck	all that apply Initial return	Initial return of a fo			Name cha	Final return	1
-			Amended return	Address chan	ge	لما			
		the I	•				A EIIIPIO	yer identification	i number
		abel. erwis	T SEATS TO A STORE THAT A STATE OF THE COLUMN TO	TABLE FOUNDAT	ION		65	-6263327	
	_	rint	Number and street (or P O box number if mail is not	delivered to street address)		Room/suite	<b>B</b> Teleph	one number	
		type	p, o blobbilli inobi,	630 FIFTH AVE	NUE	3425	(2	<u>12)708-9</u>	216
		Spec	City of town, state, and ZIP code				C If exem	ption application is p	pending, check here
_	ınsır	uctio	NEW YORK, NY TOTTI				D 1. For	eign organization:	s, check here 🕨 🛄
Ī	1 C	heck	type of organization X Section 501(c)(3)	exempt private foundation			2 Fore	ign organizations me ck here and attach co	eeting the 85% test, pmputation
_		Sec	ction 4947(a)(1) nonexempt charitable trust	Other taxable private found	ation		E If priva	ate foundation sta	tus was terminated
1	Fa	ır ma	rket value of all assets at end of year   J   Accour	•	L Accr	ual	under	section 507(b)(1	)(A), check here 🕨 📖
				Other (specify)					60-month termination
r	<u> </u>		9,860,869. (Part I, co	lumn (d) must be on cash	basis)			section 507(b)(1	
Į	Pa	rt I	(The total of amounts in columns (b), (c), and (d) may not	(a) Revenue and expenses per books	(b) Net in		(c)	Adjusted net Income	(0) Disbursements for chantable purposes
_	-		necessarily equal the amounts in column (a) )	expenses per books				N/A	(cash basis only)
9			Contributions, gifts, grants, etc , received		<b> </b>		<u> </u>	LY / JA	
2010			Check X If the foundation is not required to attach Sch. B Interest on savings and temporary				-	ti atan ba	
ev		3	cash investments	229,199.	22	9,199.			STATEMENT 1
es.		4	Dividends and interest from securities	223/133.		<i>3   133                                </i>			
			Gross rents Net rental income or (loss)			<del></del>			
<b>S</b>		_	Net gain or (loss) from sale of assets not on line 10	<1,520,646.	<b>&gt;</b>	la latteration 'ar i		DEC	ENZEN
	Ę	h	Gross sales price for all assets on line 6a 3,001,619.			······		**************************************	4=1 V links
SCANNED NOV	Revenue	7	Capital gain net income (from Part IV, line 2)	·		0.	· · · · · · · · · · · · · · · · · · ·	Ø	i ;
	æ	8	Net short-term capital gain					g NOV 1	8 Z010   ·
S		9	Income modifications						,
Š		10a	Gross sales less returns and allowances	· · · · · · · · · · · · · · · · · · ·		He streezen - mi	<u> </u>	OGD	EN. UT
		þ	Less Cost of goods sold				1	***************************************	
		C	Gross profit or (loss)	11 160					STATEMENT 2
		11	Other income	11,162.	- 22	0. 9,199.	<del> </del>		STATEMENT Z
		12	Total Add lines 1 through 11	<1,280,285.		0.	<del>                                     </del>		0.
		13	Compensation of officers, directors, trustees, etc			<u> </u>		<del></del>	
		14	Other employee salaries and wages Pension plans, employee benefits			<del> </del>			
	S	15	Legal fees		<del> </del>		<del> </del>		
	enses	ı	Accounting fees		····				- <del></del>
	Ř		Other professional fees STMT 3	51,962.	2	0,785.			31,177.
	Š	17	Interest						
	rati	18	Taxes STMT 4	875.		875.			0.
	ıist	19	Depreciation and depletion						
	<u>=</u>	20	Occupancy				<u> </u>		
	Ā	21	Travel, conferences, and meetings				ļ <u></u>		1
	auc	22	Printing and publications	150.		0.			150.
	ng	23	Other expenses STMT 5	1,485.	ļ	0.			1,485.
	Operating and Administrative Expe	24	Total operating and administrative	54 472	,	1 660	ł		22 812
	ŏ		expenses. Add lines 13 through 23	54,472. 473,057.		1,660.		······	32,812. 473,057.
	-	ı	Contributions, gifts, grants paid	4/3,03/.					7/3/03/
		26	Total expenses and disbursements.  Add lines 24 and 25	527,529.	2	1,660.			505,869.
		27	Subtract line 26 from line 12	3211323	<del>                                     </del>	_,	<del> </del>	· · · · · · · · · · · · · · · · · · ·	1 337,033
		l <sup>*</sup>	Excess of revenue over expenses and disbursements	<1,807,814.					
		1	Net Investment Income (if negative, enter -0-)		20	7,539.	1		**************************************
		l	Adjusted net income (if negative, enter -0-)					N/A	

923501 02-02-10 LHA For Privacy Act and Paperwork Reduction Act Notice, see the instructions. Form 990-PF (2009)

1

D		Balance Sheets Attached schedules and amounts in the description column should be for early-by-gar amounts only	Beginning of year	End of	year
	arı	Column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	211,132.	2,433,924.	2,433,924.
	2	Savings and temporary cash investments	1,138,474.		
	3	Accounts receivable ► 1,000.			
		Less allowance for doubtful accounts		1,000.	1,000.
	4	Pledges receivable			
		Less allowance for doubtful accounts ▶		.=,	
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			·····
	7	Other notes and loans receivable			
		Less allowance for doubtful accounts			
ts	8	inventories for sale or use			
Assets		Prepaid expenses and deferred charges			
⋖	10a	Investments - U.S. and state government obligations STMT 6	2,128,466.	0.	0.
	b	Investments - corporate stock STMT 7	5,914,735.	4,998,488.	5,202,614.
	C	Investments - corporate bonds STMT 8	2,011,682.	2,345,501.	2,223,331.
	11	Investments - land, buildings, and equipment basis			
		Less. accumulated depreciation			
	12	Investments - mortgage loans			
	13	Investments - other STMT 9	173,797.	0.	0.
	14	Land, buildings, and equipment basis			
		Less accumulated depreciation			
	15	Other assets (describe)			
			11 550 006	0 550 010	0.060.060
	16	Total assets (to be completed by all filers)	11,578,286.	9,778,913.	9,860,869.
	17	Accounts payable and accrued expenses			
	18	Grants payable			
es	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
iab.	21	Mortgages and other notes payable			
_	22	Other liabilities (describe )			
	23_	Total liabilities (add lines 17 through 22)	0.	0.	
	1	Foundations that follow SFAS 117, check here	•		
Ś		and complete lines 24 through 26 and lines 30 and 31.			
ဦ	1	Unrestricted			
ala	25	Temporarily restricted			
Net Assets or Fund Balances	26	Permanently restricted			
Ë		Foundations that do not follow SFAS 117, check here			
9		and complete lines 27 through 31.	11 570 206	0 779 012	
şţs	27	Capital stock, trust principal, or current funds	11,578,286.	9,778,913.	
SS	28	Paid-in or capital surplus, or land, bldg, and equipment fund	0.	- 0.	
et A	29	Retained earnings, accumulated income, endowment, or other funds	11,578,286.	9,778,913.	
Ž	30	Total net assets or fund balances	11,570,200.	7,110,713.	
		Table link dation and and appears than designed	11,578,286.	9,778,913.	
_	31	Total liabilities and net assets/fund balances		9,110,913.	
P	art	Analysis of Changes in Net Assets or Fund Ba	alances		
1	Tota	I net assets or fund balances at beginning of year - Part II, column (a), line (	30	1-T	_
	(mus	st agree with end-of-year figure reported on prior year's return)		1	11,578,286.
		r amount from Part I, line 27a		2	<1,807,814.> 8,441.
3	Othe	r increases not included in line 2 (itemize) PRIOR PERIO	D ADJUSTMENT	3	8,441.
		lines 1, 2, and 3	<del></del>	4	9,778,913.
-		eases not included in line 2 (itemize)		5	0.
6	Tota	net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	lumn (b), line 30	6	9,778,913.

923511

Part IV Capital Gains	and Losses for Tax on In	vestment	t Income					<u></u>
	ribe the kind(s) of property sold (e g irehouse, or common stock, 200 shs			P-	ow acquired Purchase Donation	(c) Date a (mo , da		(d) Date sold (mo , day, yr )
1a PUBLICLY TRADE	D SECURITIES - N	ORTHER	N TRUST		P	VARIO	ous	VARIOUS
b PUBLICLY TRADE		ESSEME			P	VARIO		VARIOUS
c PUBLICLY TRADE		P MORG	AN CHASE		P	VARIO	ous	VARIOUS_
d CLASS ACTION S			<u>-</u>	<u></u>	P _			
e CAPITAL GAINS	DIVIDENDS			<u> </u>		_		<u> </u>
(e) Gross sales price	(f) Depreciation allowed (or allowable)	plus e	st or other basis expense of sale				in or (loss (f) minus	(g)
a 1,215,637.			1,614,99					<399,360.
b 1,785,585.			1,603,26					182,322.
C			<u>1,304,00</u>	5.		_	<	1,304,005.
d 374.								374.
e 23.	— .—							23.
Complete only for assets showing	ig gain in column (h) and owned by	the foundation	on 12/31/69			(I) Gains (Ci		
(I) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69		cess of col (I) col (J), if any		C	l (k), but n Losses (	from col	(h)) ·
а								<399,360.
<b>b</b>								182,322.
C							<	1,304,005.
d								374.
e		<u></u>						23.
2 Capital gain net income or (net ca	If gain, also enter figures) fit (loss), enter -0			}	2	_	<	1,520,646.
3 Net short-term capital gain or (los								
If gain, also enter in Part I, line 8,		.0 (0)		Ĵ				
If (loss), enter -0- in Part I, line 8				<u>J</u>	3		N/A	<u> </u>
Part V Qualification U	nder Section 4940(e) for	Reduced	Tax on Net	Inve	stment In	come		
If section 4940(d)(2) applies, leave to Was the foundation liable for the sectif "Yes," the foundation does not quate the appropriate amount in	tion 4942 tax on the distributable an	omplete this pa	art					Yes X No
(a) Base period years Calendar year (or tax year beginn	(b)		Net value of no	(c)	able-use asset	s		(d) bution ratio vided by col (c))
2008	''9 '''/	6,887.		11.	661,87		100. (17,0.	.035748
2007		8,299.			698,60			.042644
2006		4,681.			196,74			.047554
2005		8,490.	<b>.</b>		029,05			.044533
2004		7,198.			518,31			.050232
2 Total of line 1, column (d)						2		.220711
3 Average distribution ratio for the the foundation has been in existe	•	on line 2 by 5,	or by the number	of year	rs	3		.044142
	·	<i>T</i>					-	9,483,365.
4 Enter the net value of noncharital	Die-use assets for 2009 from Part X,	iine 5				4		
5 Multiply line 4 by line 3						5		418,615.
6 Enter 1% of net investment incor	ne (1% of Part I, line 27b)					6		2,075.
7 Add lines 5 and 6						7		420,690.
8 Enter qualifying distributions from	n Part XII, line 4 n line 7, check the box in Part VI, line	e 1b, and comi	plete that part usin	ng a 1%	tax rate	8		505,869.
See the Part VI instructions	, , , , , , , , , , , , , , , , , , , ,							Form <b>990-PF</b> (2009)

923531

N/A 3b

Yes X No

Form 4720, to determine if the foundation had excess business holdings in 2009.)

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time

bid the foundation invest during the year any amount in a mainter that would jeopardize its charitable purposes.

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2009?

b If "Yes," did it have excess business holdings in 2009 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,

Form **990-PF** (2009)

X

Х

during the year?

Part VIII Information About Officers, Directors, Trustees, Foundation Paid Employees, and Contractors (continued)	n Managers, Highly	
3 Five highest-paid independent contractors for professional services. If none, enter "N	IONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
Total number of others receiving over \$50,000 for professional services  Part IX-A Summary of Direct Charitable Activities		▶ 0
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical number of organizations and other beneficiaries served, conferences convened, research papers produce	information such as the d, etc	Expenses
1 N/A		
2		,,
3		
4		
Part IX-B Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on line.  1	s 1 and 2	Amount
2		···
All other program-related investments. See instructions 3 N/A		
<del></del>	<b>•</b>	0.
Total. Add lines 1 through 3		<u> </u>

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign fou	ndations,	see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes		<del></del>
а	Average monthly fair market value of securities	1a	6,644,302.
b	Average of monthly cash balances	1b	6,644,302. 2,983,480.
C	Fair market value of all other assets	10	
d	Total (add lines 1a, b, and c)	1d	9,627,782.
8	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	9,627,782.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	144,417.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4.	5	9,483,365.
6	Minimum investment return. Enter 5% of line 5	6	474,168.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here and do not complete this part.)	nd certain	
1	Minimum investment return from Part X, line 6	1	474,168.
2a	Tax on investment income for 2009 from Part VI, line 5		
b	Income tax for 2009 (This does not include the tax from Part VI)		
C	Add lines 2a and 2b	20	2,075.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	2,075. 472,093.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	472,093.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1	7	472,093.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		
а	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	505,869.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	· · · · · · · · · · · · · · · · · · ·
4	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	505,869.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income Enter 1% of Part I, line 27b	5	2,075. 503,794.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	503,794.
	Note: The assessment on the Court he wood in Dark's reduced (h) in author great vector when extending whether the foundation	amalifica fo	r the sestion

4940(e) reduction of tax in those years

Page 9

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2008	(c) 2008	(d) 2009
1 Distributable amount for 2009 from Part XI, line 7				472,093.
2 Undistributed Income, if any, as of the end of 2009		10. 10 tolono 10 10 10 10 10 10 10 10 10 10 10 10 10		
a Enter amount for 2008 only			504,232.	
b Total for prior years		· · · · · · · · · · · · · · · · · · ·		<del></del>
		0.		
3 Excess distributions carryover, if any, to 2009	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			711711 1171 114 - H
a From 2004		<b>→</b>		
b From 2005				
c From 2006				
d From 2007				
e From 2008	_			
f <b>Total</b> of lines 3a through e	0.			
4 Qualifying distributions for 2009 from				
Part XII, line 4 ► \$ 505,869.				
a Applied to 2008, but not more than line 2a	nada erabela lande on		504,232.	<del></del>
<b>b</b> Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus	0			
(Election required - see instructions)	0.			1 627
d Applied to 2009 distributable amount				1,637.
e Remaining amount distributed out of corpus	0. 0.	<del></del>		0.
5 Excess distributions carryover applied to 2009 (If an amount appears in column (d), the same amount must be shown in column (a))	<b>U</b> •			<u> </u>
6 Enter the net total of each column as indicated below:		***************************************		
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	0.			
b Prior years' undistributed income Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of		1.		
deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b Taxable				·····
amount - see instructions		0.		
e Undistributed income for 2008 Subtract line				······································
4a from line 2a Taxable amount - see instr			0.	
f Undistributed income for 2009 Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2010				470,456.
7 Amounts treated as distributions out of	-			
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			······
8 Excess distributions carryover from 2004	_			
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2010.	•			
Subtract lines 7 and 8 from line 6a	0.			
10 Analysis of line 9				
a Excess from 2005				
b Excess from 2006				
c Excess from 2007				
d Excess from 2008				
e Excess from 2009				Form <b>990-PF</b> (2009)

Part XIV Private Operating Fo		structions and Part V		N/A	0-0203327 Page
1 a If the foundation has received a ruling or o			1		
foundation, and the ruling is effective for 2					
b Check box to indicate whether the foundate				4942(j)(3) or	4942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2009	(b) 2008	(c) 2007	(d) 2006	(e) Total
investment return from Part X for	· · · · · · · · · · · · · · · · · · ·		-		
each year listed					
b 85% of line 2a	-		<del></del>		
c Qualifying distributions from Part XII,	<del></del>	-			· · · · · · · · · · · · · · · · · · ·
line 4 for each year listed					
d Amounts included in line 2c not		<del></del>			
used directly for active conduct of					
exempt activities					
e Qualifying distributions made directly	····				
for active conduct of exempt activities					
Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the					
alternative test relied upon					
a "Assets" alternative test - enter (1) Value of all assets		1		:	
` '	<del></del>				
(2) Value of assets qualifying under section 4942(I)(3)(B)(I)					
b "Endowment" alternative test - enter			<del></del>		
2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter	· · · · · · · · · · · · · · · · · · ·				
(1) Total support other than gross					
investment income (interest,					
dividends, rents, payments on					
securities loans (section 512(a)(5)), or royalties)					
(2) Support from general public					
and 5 or more exempt					
organizations as provided in section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization					
(4) Gross investment income					
Part XV Supplementary Infor	mation (Comple	ete this part only	if the founda	tion had \$5,000	or more in assets
at any time during th					
1 Information Regarding Foundation	Managers:				
a List any managers of the foundation who			ntributions received t	by the foundation before	the close of any tax
year (but only if they have contributed mo	re than \$5,000) (See	section 507(d)(2) )			
NONE				· · · · · · · · · · · · · · · · · · ·	
b List any managers of the foundation who			o (or an equally large	portion of the ownersh	ip of a partnership or
other entity) of which the foundation has	a 10% or greater intere	est			
NONE					
2 Information Regarding Contribution					
					ted requests for funds If
the foundation makes gifts, grants, etc. (s	ee instructions) to indi	ividuals or organizations	under other condition	ns, complete items 2a,	b, c, and d
a The name, address, and telephone number	er of the person to who	om applications should b	e addressed		
SEE STATEMENT 10					···
<b>b</b> The form in which applications should be	submitted and informa	ation and materials they	should include		
c Any submission deadlines	<u> </u>				
d Any restrictions or limitations on awards,	such as by geographic	cal areas, charitable field	s, kinds of institution	s, or other factors	
,	20 0 0				
222601 02 02 10				<del>.</del>	Form <b>990-PF</b> (20)

Part XV Supplementary Information				· · · · · · · · · · · · · · · · · · ·
3 Grants and Contributions Paid During the Ye	ar or Approved for Future	Payment		
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
a Paid during the year	or substantial contributor	recipient		
SEE STATEMENT 10			<b>N</b> 0-	172 057
b Approved for future payment  NONE			<b>▶</b> 3a	473,057.
Total	<u> </u>		<b>▶</b> 3b	0.

923611 02-02-10

Form 990-PF (2009) LYNN HANDLEM	AN CHARITA	ABLE FOUNDAT	ION	65-	6263327 Page 12
Part XVI-A Analysis of Income-Pro	oducing Activit	ies			
Enter gross amounts unless otherwise indicated	Unrelated	business income		ed by section 512, 513, or 514	(e)
1 Program service revenue	(a) Business code	(b) Amount	(C) Exclu- sion code	(d) Amount	Related or exempt function income
a		-	11		· · · · · · · · · · · · · · · · · · ·
b					
C		-			
d					
e					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash					
investments				000 100	<del> </del>
4 Dividends and interest from securities			14	229,199.	<del></del>
5 Net rental income or (loss) from real estate					
a Debt-financed property					
b Not debt-financed property					
6 Net rental income or (loss) from personal					
property			01	11,162.	
7 Other investment income			01	11,102.	
8 Gain or (loss) from sales of assets other			18	<1,520,646.	>
than inventory  9 Net income or (loss) from special events			1 1	11/320/0401	
10 Gross profit or (loss) from sales of inventory					
11 Other revenue			<del>                                     </del>		
ab	1 1				,
C					
d					
e					
12 Subtotal Add columns (b), (d), and (e)		0.	]	<1,280,285.	> 0.
13 Total. Add line 12, columns (b), (d), and (e)				13	<1,280,285.
(See worksheet in line 13 instructions to verify calculation	ns )	<del> </del>			<del></del>
Part XVI-B Relationship of Activit	ies to the Acco	mplishment of E	cempt	Purposes	
Line No. Explain below how each activity for which the foundation's exempt purposes (other			contrib	uted importantly to the accord	nplishment of
N/A					
				<del></del>	
	<del></del>	<del> </del>			
	<del></del>				<del></del>
			<del></del>		
	<del>.</del>				
				·	
		······································			
				<del></del>	

923621 02-02-10

		HANDLEMAN CHAR	ITABLE FOUNDAT	TION 65-	<u>6263327</u>	Pa	ge 13
P			and Transactions ar	nd Relationships With No	ncharitable	•	
_	Exempt Organ	<del></del>	una with any other proportion	described in eachier E01/e) of		Yes	No
1					<b> </b>	162	140
	the Code (other than section 501(c)		•	cations			
ć	<ul><li>a Transfers from the reporting founds</li><li>(1) Cash</li></ul>	ation to a nonchantable exempt o	nyamzation or		10/1)		х
					1a(1)		X
	(2) Other assets b Other transactions	•			1a(2)		<del></del>
L		his avament arganization			16(1)		Х
	(1) Sales of assets to a noncharital (2) Purchases of assets from a not				1b(2)		X
	(3) Rental of facilities, equipment,	· -			1b(2)		X
	(4) Reimbursement arrangements				1b(4)		X
	(5) Loans or loan guarantees				1b(5)		X
	(6) Performance of services or me	embershin or fundraising solicitat:	inns		1b(6)		X
	c Sharing of facilities, equipment, ma	· · · · · · · · · · · · · · · · · · ·			10		X
	d If the answer to any of the above is	•	•	avs show the fair market value of the	L	ets.	
٠	•	· · · · · · · · · · · · · · · · · · ·		in any transaction or sharing arrange		,	
	column (d) the value of the goods,						
(a)	) Line no (b) Amount involved	(c) Name of noncharitab		(d) Description of transfers, transaction	ons, and sharing an	rangeme	nts
		N/A					
							-
_							
_							
				<u> </u>			
_					-		
_		<u> </u>					
2	a Is the foundation directly or indirec	•		ations described	[ <del>]</del>	T <b>Y</b>	No
	in section 501(c) of the Code (othe		cuon 52//		Yes	IA	_ N0
'	<ul> <li>b If "Yes," complete the following sch</li> <li>(a) Name of org</li> </ul>		(b) Type of organization	(c) Description of re	elationshin		
_	N/A	34111241011	(b) Typo or organization	(a) Bosonphion or			
				. <del></del>			
-			<u> </u>				
_				····			
_							
				nts, and to the best of my knowledge and be	elief, it is true, come	ct,	
	and complete Declaration of preparer (other	er than taxpayer or fiduciary) is based o	n all information of which preparer h				
	Scott 8	Hondleman	11-13-10	<u>Irustee</u>			
Sign Here	Signature of officer or trustee		Date	Title			
エ	Preparer's	2.10/1	Da	te / Check if self-	Preparer's identif		nber
S	Pied Signature Firm's name (or yours 1/5 816 mployed). 630	way your		11/10/10 employed >	P0032	435	6
	Firm's name (or yours BESS		0.4	EIN►			
	of self-employed).		34TH FLOOR		10 700	010	^
	address, and ZIP code NEW	YORK, NY 10111		Phone no 2	12-708-		

FORM 990-PF DIVIDENT	OS AND	INTER	EST	FROM	SECU	JRITIES	STATEMEN	T :
SOURCE		GROSS	AMO	UNT		PITAL GAINS DIVIDENDS	COLUMN AMOUN	
BESSEMER TRUST CO. JM MORGAN CHASE NORTHERN TRUST	•		102,	203. 947. 072.		0. 0. 23.	102	,203 ,947 ,049
TOTAL TO FM 990-PF, PART I, I	LN 4		229,	222.		23.	229	,199
FORM 990-PF	0	THER I	NCOM	E			STATEMEN	т 2
DESCRIPTION			REV	A) ENUE BOOK	S	(B) NET INVEST- MENT INCOME		
EXCISE TAX REFUND				11,	162.	0	•	
TOTAL TO FORM 990-PF, PART I	, LINE	11		11,	162.	0		
FORM 990-PF (	OTHER	PROFES	SION	IAL F	EES		STATEMEN	т :
DESCRIPTION	EXPÈ	A) NSES BOOKS		(B) INV IT IN		(C) ADJUSTED NET INCOM		
NORTHER TRUST FEES JP MORGAN CHASE FEES BESSEMER TRUST FEES	2	3,552. 4,316. 4,094.		9	,421 ,726 ,638	•	14	,131 ,590 ,456
TO FORM 990-PF, PG 1, LN 16C	5	1,962.		20	,785	•	31	,177

FORM 990-PF	TAX	ES			STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS			(C) ADJUSTED NET INCOM	CHARITA	
FOREIGN TAXES WITHHELD	875.		375.			0.
TO FORM 990-PF, PG 1, LN 18	875.		375.			0.
FORM 990-PF	OTHER E	XPENSES			STATEMENT	5
DESCRIPTION	(A) EXPENSES PER BOOKS			(C) ADJUSTED NET INCOM	CHARITA	
TAX PREP FEES	1,485.		0.		1,4	85.
TO FORM 990-PF, PG 1, LN 23	1,485.		0.		1,4	85.
FORM 990-PF U.S. AND S	STATE/CITY G	OVERNMENT	OBL		STATEMENT	6
DESCRIPTION	U.S GOV'		вос	OK VALUE	FAIR MARKE VALUE	T
DESCRIPTION ————————————————————————————————————			вос	OK VALUE		T 0.
	GOV'		вос			
SEE ATTACHED	GOV' X	T GOV'T -	вос			
SEE ATTACHED TOTAL U.S. GOVERNMENT OBLIGATION	GOV' X TIONS VERNMENT OBL	T GOV'T -	ВОС			
SEE ATTACHED  TOTAL U.S. GOVERNMENT OBLIGATIONAL STATE AND MUNICIPAL GOVERNMENT	GOV' X TIONS VERNMENT OBL	T GOV'T	ВОС	0.		0.
SEE ATTACHED  TOTAL U.S. GOVERNMENT OBLIGATION TOTAL STATE AND MUNICIPAL GOVERNMENT TOTAL TO FORM 990-PF, PART I	GOV'  X FIONS VERNMENT OBI I, LINE 10A	T GOV'T		0.	VALUE	0.
SEE ATTACHED  TOTAL U.S. GOVERNMENT OBLIGATIONAL STATE AND MUNICIPAL GOVERNMENT TOTAL TO FORM 990-PF, PART INTERPRET TOTAL TO FORM 990-PF	GOV'  X FIONS VERNMENT OBI I, LINE 10A	T GOV'T	ВОО	0.	STATEMENT FAIR MARKE	0. 7

FORM 990-PF	CORPORATE BONDS		STATEMENT 8
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
SEE ATTACHED		2,345,501.	2,223,331.
TOTAL TO FORM 990-PF, PART I	I, LINE 10C	2,345,501.	2,223,331.
FORM 990-PF	OTHER INVESTMENTS		STATEMENT 9
DESCRIPTION	VALUATION METHOD	BOOK VALUE	FAIR MARKET VALUE
SEE ATTACHED	COST	0.	0.
TOTAL TO FORM 990-PF, PART I	I, LINE 13	0.	0.

FORM 990-PF

GRANT APPLICATION SUBMISSION INFORMATION STATEMENT 10 PART XV, LINES 2A THROUGH 2D

NAME AND ADDRESS OF PERSON TO WHOM APPLICATIONS SHOULD BE SUBMITTED

MS. ANGELA FITZSIMONS PO BOX 170579 SAN FRANCISCO, CA 94117

TELEPHONE NUMBER NAME OF GRANT PROGRAM

N/A

FORM AND CONTENT OF APPLICATIONS

APPLICATIONS SHOULD HAVE AN OUTLINE OF THE PROPOSED BUDGET AND ITS OBJECTIVES AND A PHOTOCOPY OF THE EXEMPT STATUS LETTER FROM THE INTERNAL REVENUE SERVICE.

ANY SUBMISSION DEADLINES

APPLICATIONS ACCEPTED ANYTIME.

RESTRICTIONS AND LIMITATIONS ON AWARDS

NO RESTRICTIONS. CONTRIBUTIONS ARE MADE TO ALL CHARITABLE ORGANIZATIONS

FORM 990-PF

STATEMENT 11

RECIPIENT NAME AND ADDRESS	RECIPIENT RELATIONSHIP AND PURPOSE OF GRANT		AMOUNT
ARAB RESOURCE AND ORGANIZING CENTER 522 VALENCIA STREET SAN FRANCISCO, CA 94110	PUBLIC CHARITY GENERAL SUPPORT	NONE	15,000.
CENTER FOR CONSTITUTIONAL RIGHTS 666 BROADWAY FL 7 NEW YORK, NY 10012		NONE	15,000.
CENTER FOR SCIENCE IN THE PUBLIC INTEREST 1875 CONNECTICUT AVE NW WASHINGTON, DC 20009	PUBLIC CHARITY GENERAL SUPPORT	NONE	5,000.
CRITICAL RESISTANCE 1904 FRANKLIN ST. #504 OAKLAND, CA 94612	PUBLIC CHARITY GENERAL SUPPORT	NONE	5,000.
EDUCATION FOR PEACE IN IRAQ CENTER 900 SECOND STREET NE, STE 216 WASHINGTON, DC 20002	PUBLIC CHARITY GENERAL SUPPORT	NONE	40,000.
FREEDOM ARCHIVES 522 VALENCIA STREET SAN FRANCISCO, CA 94110	PUBLIC CHARITY GENERAL SUPPORT	NONE	15,000.
GLOBAL EXCHANGE 2017 MISSION STREET, STE 303 SAN FRANCISCO, CA 94110	PUBLIC CHARITY GENERAL SUPPORT	NONE	20,000.
INSTITUTE FOR THE ADVANCEMENT OF JOURNALISTIC CLARITY PO BOX 228 PETROLIA , CA 95558	PUBLIC CHARITY GENERAL SUPPORT	NONE	50,000.

GRANTS AND CONTRIBUTIONS

PAID DURING THE YEAR

LYNN HANDLEMAN CHARITABLE FOUND	ATION		65-6263327
JEWISH VOICE FOR PEACE 1611 TELEGRAPH AVENUE, SUITE 550 OAKLAND, CA 94612	PUBLIC CHARITY GENERAL SUPPORT	NONE	10,000.
KOPKIND COLONY 158 KOPKIND RD GUILFORD, VT 05301	PUBLIC CHARITY GENERAL SUPPORT	NONE	15,000.
LA RAZA CENTRO LEGAL - SAN FRANCISCO 474 VALANCIA STREET, STE 295 SAN FRANCISCO, CA 94103	PUBLIC CHARITY GENERAL SUPPORT	NONE	69,057.
MIDDLE EAST CHILDREN'S ALLIANCE 901 PARKER STREET BERKELEY, CA 94710		NONE	22,000.
RIGHTS ACTION 1247 E ST SE WASHINGTON, DC 20003	PUBLIC CHARITY GENERAL SUPPORT	NONE	30,000.
SAN FRANCISCO COALITION ON HOMELESSNESS 468 TURK STREET SAN FRANCISCO, CA 94102	PUBLIC CHARITY GENERAL SUPPORT	NONE	15,000.
SAN FRANCISCO COMMUNITY LAND TRUST PO BOX 420982 SAN FRANCISCO, CA 94142	PUBLIC CHARITY GENERAL SUPPORT	NONE	12,000.
THE FRUIT TREE PLANTING FOUNDATION PO BOX 632 MILL VALLEY, CA 94942	PUBLIC CHARITY GENERAL SUPPORT	NONE	10,000.
UNIVERSITY OF SAN FRANCISCO 2130 FULTON STREET SAN FRANCISCO, CA 94117	PUBLIC CHARITY GENERAL SUPPORT	NONE	100,000.
WESTERN REGINAL ADVOCACY PROJECT 2940 16TH STREET, STE 200-2 SAN FRANCISCO, CA 94103		NONE	25,000.
TOTAL TO FORM 990-PF, PART XV, LI	NE 3A	_	473,057.

# Statement dated December 31, 2009 · LYNN HANDLEMAN CHAR FDN IMA

	>	4
	ά	1
	◂	ď
	5	-
	5	3
		ヿ
,	<b>;</b>	ر ۱
(	J.	2
	<b>U</b> .	2
		)
	Z	_
		į
		3
	=	₹
_	<u>_</u>	
,  -		
•	r	•
		4
		7
		,
	$\mathcal{L}$	) `
	COL	ļ
		4
_	$\triangleleft$	4

	Tax cost	Market value	Percent of account	Unrealzed gain/(loss) Amount Percent	gain/(loss) Percent	Estimated annual income	Current yield
Cash and short term	\$955,570	\$955,570	22.9%			\$190	0.02%
Екед іпсоте	64,000	-	< 0.1	(666'89)	(100.0)	0	
U.S. Large cap	1,398,488	1,613,161	38.7	214,673	15.4	23,998	1.49
Non-U.S. Large cap	400,000	395,425	9.5	(4,575)	(1.1)	5,569	1.41
Global Small & Mid cap	500,000	502,809	12.1	2,809	9.0	4,094	0.81
Global Opportunities	200,000	499,579	12.0	(421)	(0.1)	11,871	2.38
Real Return / Commodities	200,000	200,536	4.8	536	0.3	1,769	0.88
Total value of account	\$4,018,058	\$4,167,081	100.0%	\$149,023	3.7%	\$47,491	1.14%

Statement dated December 31, 2009 · LYNN HANDLEMAN CHAR FDN IMA

•	pasis
	date
	Irade

Account Holdings

Current yield		0.02				•				0.59%	2.85	8   8	3	1.54	1.34
Estimated annual income		190	\$190							α.	275	358		360	255
Unrealzed gain/loss						(\$63,999)	(\$63,999)			\$652	1.996	3.468	2.837	953	2,071
Percent of asset alue class	\$370 < 0.1%	955,200 100.0	\$955,570 100.0%			\$1 100.0%	\$1 100.0%			36 0.2%	1	56 2.1	23 1.3	1	57 1.2
Market value	₩ 	955,2	\$955,5							\$3,036	9,644	33,056	20,223	23,390	19,057
Market value per share/unit		1.000				BOOK				\$40.480	35.070	32.250	53.930	23.390	24.590
Tax cost	\$370	955,200	\$955,570			\$64,000	\$64,000			\$2,384	7,648	29,588	17,386	22,437	16,986
Average tax cost per share/unt		1.00				\$100 00				\$31.79	27.81	28.87	46.36	22.44	21.92
Shares/units		955,200				64,000				75	275	1,025	375	1,000	775
Cash and short term	CASH AVAILABLE	SEI GOVT II FUND #33 0.020 %	Total cash and short term	Fixed income	Corporate	MORGAN STANLEY BUFFER NT 0% Due 06/15/2010	Total fixed income	U.S. Large cap	Consumer discretionary	ADVANCE AUTO PARTS (AAP)	DARDEN RESTAURANTS (DRI)	DISNEY (WALT) HOLDING CO (DIS)	KOHL'S CORP (KSS)	LOWES COS INC (LOW)	STAPLES INC (SPLS)

# Statement dated December 31, 2009 LYNN HANDLEMAN CHAR FDN IMA

\$10,324         29,140         11,889         0.7         1,565           4,536         34,970         4,371         0.3         (165)           \$125,461         \$141,113         8.8%         \$15,652           \$2,157         \$43,700         \$2,951         0.2%         \$794           \$2,157         \$43,700         \$2,951         0.2%         \$794           \$2,713         \$60,800         34,048         2.1         1,335           7,616         \$60,630         32,141         3.2         20,432           31,709         \$60,630         52,141         3.2         20,432           38,621         \$52,141         3.2         20,432           \$54,18         \$60,630         52,141         3.2         20,432           \$54,18         \$60,630         52,141         3.2         20,432           \$54,18         \$61,90         1.8         1,043           \$61,00         \$7,802         0.5%         \$2,548           \$61,00         \$7,802         0.5%         \$2,384           \$6,41         \$6,500         \$29,190         1.8         1,043           \$6,845         \$60,500         \$29,190         1.8         1	Consumer discretionary - continued	Shares/unts	Average tax cost per share/unt	Tex cost	Market value	Market velue	Percent of asset	Unrealzed	Estmated	Ourrent
31.49         14,172         36.550         16,447         1.0         2,275         216           36.29         4,536         34.970         4,371         0.3         (165)         51,893           549         \$31.33         \$2,157         \$43.700         \$2,961         0.2%         \$794         \$54,893           549         \$31.33         \$2,157         \$43.700         \$2,961         0.2%         \$794         \$54,893           549         \$31.23         7,616         \$60.800         34,048         2.1         1,335         1,008           36.87         31.73         7,616         48.190         11,566         0.7         3,949         \$56           52.05         38,627         32,141         32         20,432         \$56         36,63         1,513           \$6.05         38,637         1,566         0.7         3,949         \$56         36,63         36,63         36,63         36,63         36,63         36,63         36,63         36,63         36,63         36,63         36,63         36,64         36,64         36,64         36,64         36,64         36,64         36,64         36,64         36,64         36,64         36,64         36,64<		408	25.30	10,324	29.140	11,889	0.7	1,565	306	yield 2.57
54.29         4,536         34,970         4,371         0.3         (165)         51,893           54.9         \$125,461         \$125,461         \$141,113         8.8%         \$15,652         \$1,893           54.9         \$1.32         \$2,157         \$43,700         \$2,951         0.2%         \$794         \$5,493           54.9         \$31,33         \$2,157         \$43,700         \$2,951         0.2%         \$794         \$56           54.9         \$31,73         7,616         48,190         11,565         0.7         3,949         556           52.05         31,709         60.630         52,141         3.2         20,432         \$56           \$43.34         \$5,418         \$62,420         \$7,802         0.5%         \$27,548         \$39,99           \$43.34         \$5,418         \$62,420         \$7,802         0.5%         \$27,548         \$39,99           \$43.34         \$5,418         \$62,420         \$7,802         0.5%         \$27,548         \$39,99           \$43.50         \$21,47         \$68,190         34,913         2.5         1,043         1,14           \$5.24         \$2,644         \$6,430         \$23,84         \$22,239         \$		450	31.49	14,172	36.550	16,447	1.0	2,275	216	1.31
5426,461         \$126,461         \$141,113         8.8%         \$15,652         \$1,993           549         \$31.33         \$2,157         \$43,700         \$2,951         0.2%         \$794         \$6,40           58.42         32,713         7,616         48,190         11,565         0.7         3,949         \$6,40           31.73         7,616         48,190         11,565         0.7         3,949         5,66           38.87         31,709         60,630         52,141         3.2         20,432         1,513           52.05         38,621         53,450         39,659         2.5         1,038         808           40,400         23,399         60,630         29,190         1.8         1,043         1,74           52,4         2,684         \$6,190         34,913         2.2         32,229         86           58,50         23,109         60,500         29,190         1.8         1,683         15           53,09         40,700         4,070         0.3         94,1         4,140         17,1           49,50         6,435         6,436         10,576         0.7         4,140         17,1           49,50		125	36.29	4,536	34.970	4,371	0.3	(165)	105	2.40
549         \$31,33         \$2,157         \$43,700         \$2,951         0.2%         \$794         \$54           58,42         32,713         60,800         34,048         2.1         1,335         1,008           31,73         7,616         48,190         11,565         0.7         3,949         556           36,87         31,709         60,630         52,141         3.2         20,432         1,513           52,05         38,621         53,450         39,659         2.5         1,038         808           543,34         \$5,418         \$62,420         \$7,802         0.5%         \$2,384         \$45           104,00         23,399         103,170         23,213         1,4         (186)         136           524         2,644         \$61,90         34,913         2.2         32,229         860           58,50         23,109         66,500         23,190         1,8         1,043         174           53,64         16,845         44,090         18,738         1,2         74,140         171           49,50         6,435         20,510         1,746         1,1         4,361         171           40,50         8				\$125,461		\$141,113	8.8%	\$15,652	\$1,893	1.34%
549         \$31.93         \$2,157         \$43.700         \$2,951         0.2%         \$794         \$54           58.42         32,713         7,616         60.800         34,048         2.1         1,335         1,008           31.73         7,616         48.190         11,565         0.7         3,949         556           36.87         31,709         60.630         52,141         3.2         20,432         556           52.05         38,621         38,659         2.5         1,038         808           52.05         38,627         38,659         2.5         1,038         808           48.190         11,565         0.7         3,949         56           52.05         38,627         38,659         2.5         1,038         808           104.00         23,399         103,170         23,213         1.4         (186)         174           52.4         2,684         66,300         34,913         2.2         32,394         \$60           104.00         23,399         103,170         23,213         1.4         (186)         174           52.4         2,684         66,300         34,913         2.2         32,394 <td></td>										
58.42         32,713         60.800         34,048         2.1         1,335         1,008           31.73         7,616         48.190         11,565         0.7         3,949         556           36.87         31,709         60.630         52,141         3.2         20,432         1,513           52.05         38.621         53,450         39,659         2.5         1,038         808           54.34         \$512,816         \$140,364         8.7%         \$27,548         \$3,939           104.00         23,399         103.170         23,213         1,4         (186)         135           52.4         2,64         \$61.30         23,139         103.170         23,213         1,4         (186)         174           52.4         2,64         \$61.30         23,139         103.170         23,213         1,4         (186)         174           52.4         2,64         66.50         23,29         1,8         1,043         1,5         1,8           58.5         2,54         44.09         18,79         1,8         1,043         1,1           58.5         2,64         2,64         2,64         2,64         2,64         2,64 </td <td></td> <td>67.549</td> <td>\$31.93</td> <td>\$2,157</td> <td>\$43.700</td> <td>\$2,951</td> <td>0.2%</td> <td>\$794</td> <td>\$54</td> <td>1.83%</td>		67.549	\$31.93	\$2,157	\$43.700	\$2,951	0.2%	\$794	\$54	1.83%
31.73         7,616         48.190         11,565         0.7         3,949         556           36.87         31,709         60.630         52,141         3.2         20,432         1,513           52.05         38,621         53,450         39,659         2.5         1,038         808           \$43.34         \$5,418         \$62,420         \$7,802         5.5%         \$2,384         \$3,339           104.00         23,399         103,170         23,213         1.4         (186)         \$35,399           93.82         28,147         97.300         29,190         1.8         1,043         \$45           5.24         2,684         68.190         23,213         1.4         (186)         \$15           58.50         23,109         60.500         23,491         2.2         \$2,29         \$60           58.50         23,109         60.500         23,897         1.5         78         \$158           39.64         16,945         44,090         18,738         1.2         4,140         \$17           49.50         6,435         81,350         10,575         0.7         4,140         \$17           15.53         8,081 <t< td=""><td></td><td>560</td><td>58.42</td><td>32,713</td><td>60.800</td><td>34,048</td><td>2.1</td><td>1,335</td><td>1,008</td><td>2.96</td></t<>		560	58.42	32,713	60.800	34,048	2.1	1,335	1,008	2.96
36.87         31,709         60.630         52,141         3.2         20,432         1,513           \$2.05         38,621         53.450         39,659         2.5         1,038         808           \$43.34         \$5,418         \$62,420         \$7,802         0.5%         \$2,384         \$45,339           104.00         23,399         103,170         23,213         1.4         (186)         135           93.82         28,147         97,300         29,190         1.8         1,043         174           5,24         2,684         68,190         23,213         1.6         1,043         174           55.24         2,684         68,190         23,213         2.2         788         158           39,64         16,845         44,090         18,738         1.5         788         158           31,29         3,129         40,700         0.3         941         41,40         17,10           49,50         6,435         13,586         10,575         0.7         4,140         17,140           8,309         8,081         35,310         17,306         17,300         17,306         17,40         17,140           8,309		240	31.73	7,616	48.190	11,565	0.7	3,949	556	4.81
52.05         38,621         53.450         39,659         2.5         1,038         808           \$412,816         \$12,816         \$140,364         8.7%         \$27,548         \$3,939           \$43.34         \$5,418         \$62.420         \$7,802         0.5%         \$2,384         \$45           \$104.00         23,399         103,170         23,213         1.4         (186)         174           \$104.00         23,399         103,170         23,131         1.4         (186)         174           \$104.00         23,399         103,170         23,139         1.8         1,043         174           \$10.00         23,109         60,500         29,190         1.8         1,043         174           \$1.20         23,109         60,500         23,897         1.5         788         158           \$1.29         40,700         4,070         0.3         941         171         171           \$1.53         13,585         20,510         17,946         1.1         4,140         171         128           \$23.09         8,081         35,310         12,358         0.8         4,277         1,230         1,530         1,530         1,530		860	36.87	31,709	60.630	52,141	3.2	20,432	1,513	2.90
\$43.34         \$5,418         \$62.420         \$7,802         0.5%         \$2,384         \$45           104.00         23,399         103.170         23,213         1.4         (186)         135           93.82         28,147         97.300         29,190         1.8         1,043         174           52.4         2,684         68.190         34,913         2.2         32,229         860           58.50         23,109         60.500         23,897         1.5         788         158           39.64         16,845         44.090         18,738         1.2         1,893         158           31.29         3,129         40.700         4,070         0.3         941         171           49.50         6,435         10.575         0.7         4,140         171           15.53         8,081         35.310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1.2         1,530		742	52.05	38,621	53.450	39,659	2.5	1,038	808	2.04
\$43.34         \$5,418         \$62.420         \$7,802         0.5%         \$2,384         \$45           104.00         23,399         103.170         23,213         1.4         (186)         135           93.82         28,147         97.300         29,190         1.8         1,043         174           5.24         2,684         68.190         23,897         1.5         788         158           58.50         23,109         60.500         23,897         1.5         788         158           39.64         16,845         44.090         18,738         1.2         1,893         158           31.29         3,129         40.700         4,070         0.3         941         171           49.50         6,435         81.350         10,575         0.7         4,140         171           15.53         13,585         20,510         17,946         1.1         4,361         875           23,09         8,081         35,310         12,358         0.8         4,277         128				\$112,816		\$140,364	8.7%	\$27,548	\$3,939	2.81%
\$43.34         \$5,418         \$62.420         \$7,802         0.5%         \$2,384         \$45           104.00         23,399         103.170         23,213         1.4         (186)         135           93.82         28,147         97,300         29,190         1.8         1,043         174           5.24         2,684         68,190         34,913         2.2         32,229         860           58.50         23,109         60,500         23,897         1,5         788         158           39.64         16,845         44,090         18,738         1,2         1,893         158           31.29         3,129         40,700         4,070         0.3         941         171           49.50         6,435         81,350         10,575         0.7         4,140         171           23.09         8,081         35,310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1,28										•
104.00         23,399         103.170         23,213         1.4         (186)         135           93.82         28,147         97.300         29,190         1.8         1,043         174           5.24         2,684         68.190         34,913         2.2         32,229         860           58.50         23,109         60.500         23,897         1.5         788         158           39.64         16,845         44.090         18,738         1.2         1,893         158           49.50         6,435         81.350         10,575         0.7         4,140         171           15.53         13,585         20.510         17,946         1.1         4,361         875           23.09         8,081         35.310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1,28		125	\$43.34	\$5,418	\$62.420	\$7,802	0.5%	\$2,384	\$45	0.58%
93.82         28,147         97.300         29,190         1,8         1,043         174           5.24         2,684         68.190         34,913         2.2         32,229         860           58.50         23,109         60.500         23,897         1.5         788         158           39.64         16,845         44,090         18,738         1.2         1,893         158           31.29         3,129         40,700         4,070         0.3         941         171           49.50         6,435         81,350         10,575         0.7         4,140         171           15.53         13,585         20,510         17,946         1.1         4,361         875           76,00         17,100         82,800         18,630         1.2         1,530         128		225	104.00	23,399	103.170	23,213	4.1	(186)	135	0.58
5.24         2,684         68.190         34,913         2.2         32,229         860           58.50         23,109         60,500         23,897         1,5         788         158           39.64         16,845         44,090         18,738         1,2         1,893         158           31.29         3,129         40,700         4,070         0.3         941         171           49.50         6,435         81,350         10,575         0.7         4,140         171           15.53         13,585         20,510         17,946         1.1         4,361         875           23.09         8,081         35,310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1,58		300	93.82	28,147	97.300	29,190	1.8	1,043	174	09'0
58.50         23,109         60,500         23,897         1.5         788         158           39.64         16,845         44,090         18,738         1,2         1,893         158           31.29         3,129         40,700         4,070         0.3         941         171           49.50         6,435         81.350         10,575         0.7         4,140         171           15.53         13,585         20.510         17,946         1.1         4,361         875           76.00         17,100         82.800         18,630         1.2         1,530         1,58		512	5.24	2,684	68.190	34,913	2.2	32,229	860	2.46
39.64         16,845         44.090         18,738         1.2         1,893           31.29         3,129         40,700         4,070         0.3         941           49.50         6,435         81.350         10,575         0.7         4,140         171           15.53         13,585         20.510         17,946         1.1         4,361         875           23.09         8,081         35.310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1,580		395	58.50	23,109	60,500	23,897	1.5	788	158	0.66
31.29         3,129         40,700         4,070         0.3         941         771           49.50         6,435         81.350         10,575         0.7         4,140         171           15.53         13,585         20.510         17,946         1.1         4,361         875           23.09         8,081         35,310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1,530		425	39.64	16,845	44.090	18,738	1.2	1,893		
49.50         6,435         81.350         10,575         0.7         4,140         171           15.53         13,585         20.510         17,946         1.1         4,361         875           23.09         8,081         35.310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530         1,530		100	31.29	3,129	40.700	4,070	0.3	941		
15.53         13,585         20,510         17,946         1.1         4,361         875           23.09         8,081         35,310         12,358         0.8         4,277         128           76.00         17,100         82,800         18,630         1,2         1,530		130	49.50	6,435	81.350	10,575	0.7	4.140	171	1 63
23.09         8,081         35.310         12,358         0.8         4,277         128           76.00         17,100         82.800         18,630         1.2         1,530		875	15.53	13,585	20,510	17,946	-	4.361	875	4 88
76.00 17,100 82.800 18,630 1.2 1,530		350	23.09	8,081	35,310	12,358	0.8	4.277	128	100
		225	76.00	17,100	82.800	18,630	1.2	1,530		-

Statement dated December 31, 2009 LYNN HANDLEMAN CHAR FDN IMA

		Average tax cost per		Market value		Percent of asset	hraalizad	T coto coto	, ,
	Shares/units	share/unit	Tex cost	per share/unit	Market value	class	gain/loss	annual income	plery
WEATHERFORD INTL LTD	1,100	18.06	19,863	17,910	19,701	1.2	(162)		
Total energy			\$167,795		\$221,033	13.7%	\$53,238	\$2,546	1.15%
Financials									
ACE LIMITED	80	\$45.50	\$3,640	\$50.400	\$4,032	0.3%	\$392	66\$	2.46%
AMERICAN EXPRESS (AXP)	700	40.62	28,436	40.520	28,364	1.8	(72)	504	1.78
AXIS CAPITAL HOLDINGS	50	33.98	1,699	28.410	1,420	<0.1	(279)	42	2.96
BANK OF AMERICA CORP (BAC)	867	29.42	25,511	15.060	13,057	0.8	(12,454)	34	0.27
GOLDMAN SACHS GROUP (GS)	280	110.91	31,055	168.840	47,275	2.9	16,220	392	0.83
JPMORGAN CHASE & CO (JPM)	1,275	34.62	44,142	41.670	53,129	3.3	8,987	255	0.48
METLIFE INC COM (MET)	75	28.71	2,153	35.350	2,651	0.2	498	55	. 60.2
MORGAN STANLEY GRP INC (MS)	2,315	28 84	922,99	29,600	68,524	4.3	1,748	463	0.68
PRUDENTIAL FINANCIAL (PRU)	75	29.16	2,187	49.760	3,732	0.2	1,545	52	1.41
T ROWE PRICE GROUP INC (TROW)	425	52.44	22,287	53.250	22,631	4.1	344	425	1 88
TD-AMERITRADE HLDGS (AMTD)	225	17.20	3,871	19.380	4,360	0.3	489		
TRAVELERS COS INC (TRV)	100	43.47	4,347	49.860	4,986	0.3	639	132	2.65
US BANCORP DEL NEW (USB)	1,125	25.75	28,972	22.510	25,323	1.6	(3,649)	225	0.89
l otal financials			\$265,076		\$279,484	17.3%	\$14,408	\$2,678	0.96%
Health care									
AETNA INC NEW (AET)	175	\$33.95	\$5,942	\$31.700	\$5.547	0.3%	(\$305)	6	30,0
BRISTOL-MYERS SQUIBB CO (BMY)	93	20.16	1,875	25.250	2,348	0.2	473	110	0.13%
CAREFUSION CORPORATION COM (CFN)	37	16.59	614	25.010	1	< 0.1	311	2	50:0
CELGENE CORP (CELG)	475	53.39	25,359	55.680		1.6	1.089		
JOHNSON & JOHNSON (JNJ)	375	22.24	8,339	64.410	24,153	1.5	15,814	735	3.04
MCKESSON CORP (MCK)	75	35.41	2,656	62.500	4,687	0.3	2,031	36	0.77

Statement dated December 31, 2009 LYNN HANDLEMAN CHAR FDN IMA

		Average		o de		Percent	1	i.	•
Health care - continued	Shares/units	share/unit	Tax cost	per share/unit	Market value	ckass	Onrealized gain/loss	estimated annual income	yield
PFIZER INC (PFE)	1,173	18.62	21,841	18.190	21,336	1,3	(202)	844	3.96
TEVA PHARM INDS LTD ADR	425	42.72	18,158	56.180	23,876	1.5	5,718	204	0.86
THERMO FISHER SCIENTIFIC (TMO)	325	46.45	15,095	47.690	15,499	1.0	404		
WELLPOINT INC (WLP)	25	40.32	1,008	58.290	1,457	< 0.1	449		
Total health care			\$100,887		\$126,276	7.8%	\$25,389	\$1,945	1.54%
Industrials	ļ								
DANAHER CORP (DHR)	225	\$76.28	\$17,162	\$75.200	\$16,920	1.1%	(\$242)	\$36	0.21%
EMERSON ELECTRIC CO (EMR)	625	44.10	27,565	42.600	26,625	1.7	(940)	837	3.15
FEDEX CORP (FDX)	200	81.88	16,376	83.450	16,690	0.1	314	88	0.53
GENERAL ELECTRIC CO (GE)	1,020	19.43	19,818	15.130	15,432	1.0	(4,386)	408	2.64
ILLINOIS TOOL WORKS INC (17W)	200	48.43	24,215	47,990	23,995	1.5	(220)	620	2.58
INGERSOLL-RAND PUBLIC LTD	650	36,33	23,614	35.740	23,231	1.4	(383)	182	0.78
ITT CORP (ITT)	375	68.53	25,698	49.740	18,652	1.2	(7,046)	318	1.71
JACOBS ENGR GROUP INC (JEC)	250	60.81	15,202	37.610	9,402	9.0	(5,800)		-
ROCKWELL AUTOMATION INC (ROK)	20	28.44	1,422	46.980	2,349	0.2	927	58	2.47
TYCO INTL LTD NEW	650	35.97	23,381	35.680	23,192	4.1	(189)	520	2.24
UNION PACIFIC CORP (UNP)	250	64.29	16,072	63.900	15,975	1.0	(26)	270	1.69
UNITED PARCEL SERVICE CL B (UPS)	250	57.50	14,375	57.370	14,342	6.0	(33)	450	3.14
Total industrials			\$224,900		\$206,805	12.8%	(\$18,095)	\$3,787	1.83%
Information technology									
ACCENTURE PLC CL A	275	\$30.28	\$8,327	\$41.500	\$11,412	0.7%	\$3,085	\$206	1.81%
AOL INC COM (AOL)	37	20.32	752	23.280	861	< 0.1	109		
APPLE INC (AAPL)	345	88.57	30,556	210.732	72,702	4.5	42,146		
CISCO SYSTEMS INC (CSCO)	2,214	22.15	49,042	23.940	53,003	3.3	3,961		

Statement dated December 31, 2009 LYNN HANDLEMAN CHAR FDN IMA

		Average tax cost per		Market value		Percent of asset	bethead	Tetimeter Control	o de la companya de l
Information technology - continued	Shares/units	share/unit	Tax cost	per share/unit	Market value	class	gain/loss	annual income	yeld
CORNING INC (GLW)	200	14.92	7,461	19.310	9,655	9.0	2,194	100	1.04
EMC CORP (EMC)	1,350	17.26	23,302	17 470	23,584	1.5	282		
GOOGLE INC (GOOG)	98	398.69	34,287	619.980	53,318	3.3	19,031		
JUNIPER NETWORKS (JNPR)	275	16.24	4,467	26.670	7,334	0.5	2,867		
MICROSOFT CORP (MSFT)	2,019	26 63	23,767	30.480	61,539	3.8	7,772	1,049	1.71
NETAPP INC (NTAP)	100	15.65	1,565	34,360	3,436	0.2	1,871		
PAYCHEX INC (PAYX)	725	30.17	21,876	30.640	22,214	4.1	338	668	4.05
Total information technology			\$235,402		\$319,058	19.8%	\$83,656	\$2,254	0.71%
Materials									•
AIR PRODUCTS & CHEMICALS (APD)	100	\$89 65	\$8,965	\$81.060	\$8,106	0.5%	(\$859)	\$180	2.22%
BHP BILLITON LTD ADR	175	49.81	8,717	76.580	13,401	0.8	4,684	287	2.14
DOW CHEMICAL (DOW)	850	22.62	19,230	27.630	23,485	1.5	4,255	510	2.17
INTERNATIONAL PAPER (IP)	1,250	25.91	32,387	26 780	33,475	2.1	1,088	125	0.37
MONSANTO CO NEW COM (MON)	65	101.63	909'9	81.750	5,313	0.3	(1,293)	89	1.30
PRAXAIR INC (PX)	305	33.68	10,271	80.310	24,494	1.5	14,223	488	1.99
SIGMA ALDRICH CORP (SIAL)	275	40.29	11,081	50.550	13,901	6.0	2,820	159	1.15
Total materials			\$97,257		\$122,175	7.6%	\$24,918	\$1,817	1.49%
Telecom services									
AT&T INC (7)	350	\$38.58	\$13,504	\$28.030	\$9,810	%9.0	(\$3,694)	\$588	2 99%
VERIZON COMMUNICATIONS (VZ)	1,210	39.25	47,496	33.130	40,087	2.5	(7,409)	2,299	5.73
l otal telecom services			\$61,000		\$49,897	3.1%	(\$11,103)	\$2,887	5.79%

Statement dated December 31, 2009 LYNN HANDLEMAN CHAR FDN IMA

Utilities	Shares/units	Average tax cost per share/unit	Tax cost	Market value per share/unit	Percent of asset Market value class	nt Unrealzed ss gan/loss	Estmated s annual income	Current yield
EDISON INTERNATIONAL (EIX)	200	\$39.47	\$7,894	\$34.780	\$6,956 0.4%	(\$938)	3) \$252	3.62%
Total u.s. large cap			\$1,398,488		\$1,613,161 100.0%	% \$214,673	\$23,998	1.49%
1 Restricted								
Non-U.S. Large cap								
Non-U.S. large cap funds								
OLD WESTBURY NON-US LC FD BOOK COST 400,000	42,518.891	\$9 41	\$400,000	\$9.300	\$395,425 100.0%	% (\$4,575)	()	1.41%
Total non-u.s. large cap			\$400,000		\$395,425 100.0%	% (\$4,575)	\$5,569	1.41%
Global Small & Mid cap								•
Global small & mid cap funds								
OLD WEST GL SM & MD CAP FD BOOK COST 500,000	39,374.313	\$12.70	\$500,000	\$12.770	\$502,809 100.0%	\$2,809	\$4,094	0.81%
Total global small & mid cap			\$500,000		\$502,809 100.0%	\$2,809	\$4,094	0.81%

Statement dated December 31, 2009 LYNN HANDLEMAN CHAR FDN IMA

Global Opportunities	Shares/units	Average tax cost per share/unt	Tax cost	Market value per share/unit	Percent of asset Market value class	Unrealzed gain/loss	Estimated annual income	Current yield
Global opportunities funds								
OLD WESTBURY GL OPPTIES FD BOOK COST 500,000	70,661.845	\$7.08	\$500,000	\$7.070	\$499,579 100.0%	(\$421)	\$11,871	2.38%
Total global opportunities			\$500,000		\$499,579 100.0%	(\$421)	\$11,871	2.38%
Real Return / Commodities								
Real return funds	ļ							•
OLD WESTBURY REAL RETRN FD BOOK COST 200,000	20,338.361	\$9.83	\$200,000	\$9.860	\$200,536 100.0%	\$536	\$1,769	0.88%
Total real return / commodities			\$200,000		\$200,536 100.0%	\$536	\$1,769	0.88%
Total value of account			\$4,018,058		\$4,167,081	\$149,023	\$47,491	1.14%

Statement dated December 31, 2009 - HANDLEMAN FDN B DISCLAIMED IMA

Trade date basis

# Account Holdings Summary

	Tax cost	Market value	Percent of account	Unrealzed gain/(loss Amount Percen	gain/(loss) Percent	Estimated annual income	Current yield
Cash and short term	\$1,478,354	\$1,478,354	26.0%			\$294	0.02%
Fixed income	2,281,501	2,223,330	39.1	(58,171)	(2.5)	101,326	4.56
Non-U.S. Large cap	000'009	589,029	10.3	(10,971)	(1.8)	8,297	1.41
Global Small & Mid cap	000'009	602,381	10.6	2,381	0.4	4,905	0.81
Global Opportunities	000'009	599,158	10.5	(842)	(0.1)	14,237	2.38
Real Return / Commodities	200,000	200,536	3.5	536	0.3	1,769	0.88
Total value of account	\$5,759,855	\$5,692,788	100.0%	(\$67,067)	(1.2%)	\$130,828	2.30%

Statement dated December 31, 2009 HANDLEMAN FDN B DISCLAIMED IMA

Current yreld

Estimated annual income

0.02

294

\$294

	Unrealized gain/loss	i		
	Percent of asset class	\$54 < 0.1%	100.0	100.0%
	Percent of asset Market value class	\$54	1,478,300 100.0	\$1,478,354 100.0%
	Market value per share/unit		1 000	
	Tax cost	\$54	1,478,300	\$1,478,354
	Average tax cost per share/unit		1.00	
Ø	Shares/units		1,478,300	
OLDINGS	В			
Account Holdi	Cash and short term	CASH AVAILABLE	SEI GOVÍ II FUND #33 0.020 %	Total cash and short term
			_	_

Fixed income

US government					i				•
FEDERAL HOME LN MTG CORP 7 000 % Due 03/15/2010	110,000	\$107.64	\$118,407	\$101.344	\$111,478	2.0%	(\$6,929)	\$7,700	6.91%
US TREASURY NOTES 4.000 % Due 04/15/2010	75,000	103.13	77,344	101 078	75,808	3.4	(1,536)	3,000	3.96
US TREASURY NTS 4 500 % Due 05/15/2010	900'09	105.04	52,519	101.566	50,783	2.3	(1,736)	2,250	4.43
FNIMA 7.125 % Due 06/15/2010	100,000	108.46	108,460	103.125	103,125	4.6	(5,335)	7,125	6.91
FED HM LN MTG CP 4.125 % Due 07/12/2010	50,000	101.96	50,978	102.000	51,000	2.3	55	2,062	4.04
US TREASURY NOTES 4.125 % Due 08/15/2010	95,000	103.09	97,940	102.340	97,223	4.4	(717)	3,918	4.03
FED HM LN MTG CP 4.125 % Due 10/18/2010	20,000	102.50	20,499	102.813	20,562	6:0	83	825	4.01
FEDERAL NATL MTG ASSN NT 6.625 % Due 11/15/2010	155,000	107.83	167,144	105 281	163,185	7.3	(3,959)	10,268	6.29
US TREASURY NOTE 4.375 % Due 12/15/2010	150,000	105,15	157,725	103 660	155,490	7.0	(2,235)	6,562	4.22

# Statement dated December 31, 2009 HANDLEMAN FDN B DISCLAIMED IMA

		Average				Percent		•	,
US government - continued	Shares/units	share/unit	Tax cost	market value per share/unit	Market value	or asset class	Unrealized gain/loss	Estimated annual income	Current yield
FED NATL MTG ASSN 5.125 % Due 04/15/2011	95,000	106.01	100,713	105.625	100,343	4.5	(370)	4,868	4.85
FED HOME LN MTG CORP 6.000 % Due 06/15/2011	120,000	108.88	130,659	107.219	128,662	5.8	(1,997)	7,200	5.60
US TREASURY NOTES 5.125 % Due 06/30/2011	125,000	109.71	137,143	106.262	132,827	6.0	(4,316)	6,406	4.82
US TREASURY NOTE 4.625 % Due 08/31/2011	150,000	106.97	160,453	106.039	159,058	7.2	(1,395)	6,937	4.36
US TREASURY NOTES 4 500 % Due 09/30/2011	75,000	108.29	81,216	106.023	79,517	3.6	(1,699)	3,375	4.24
FEDERAL HOME LOAN BANK 4.875 % Due 11/18/2011	135,000	103.31	139,475	106.813	144,197	6.5	4,722	6,581	4.56
UNITED STATES TREASURY NTS 4.750 % Due 01/31/2012	145,000	108.22	156,917	107.320	155,614	7.0	(1,303)	6,887	4.43
US TREASURY N/B 4.500 % Due 04/30/2012	170,000	109.72	186,526	107.211	182,258	8.2	(4,268)	7,650	4.20 ·
3.625 % Due 02/12/2013	130,000	105.04	136,547	104.875	136,337	6.1	(210)	4,712	3.46
FEDERAL FARM CREDIT BANK 3.000 % Due 09/22/2014	100,000	100.84	100,836	100.313	100,313	4.5	(523)	3,000	2.99
Total US government			\$2,181,501		\$2,147,780	%9.96	(\$33,721)	\$101,326	4.72%
Corporate									
JP MORGAN CHASE 0% Due 04/08/2010 Aa3 /A+	100,000	\$100.00	\$100,000	\$75.550	\$75,550	3.4%	(\$24,450)		
Total fixed income			\$2,281,501		\$2,223,330 100.0%	%0.00	(\$58,171)	\$101,326	4.56%

Statement dated December 31, 2009 HANDLEMAN FDN B DISCLAIMED IMA

Non-U.S. Large cap Non-U.S. large cap funds	Shares/units	Average tax cost per share/unit	Tex cost	Market value per share/unit	Percent of asset  Market value class	Unrealzed gain/loss	Estmated annual income	Current yield
OLD WESTBURY NON-US LC FD BOOK COST 600,000	63,336,485	\$9.47	\$600,000	\$9,300	\$589,029 100 0%	(\$10,971)	\$8,297	1.41%
Total non-u.s. large cap			\$600,000		\$589,029 100.0%	(\$10,971)	\$8,297	1.41%
Global Small & Mid cap								•
OLD WEST GL SM & MD CAP FD BOOK COST 600,000	47,171.614	\$12.72	\$600,000	\$12.770	\$602,381 100.0%	\$2,381	\$4,905	0.81%
Total global small & mid cap			\$600,000		\$602,381 100.0%	\$2,381	\$4,905	0.81%
Global Opportunities Global opportunities funds								
OLD WESTBURY GL OPPTIES FD BOOK COST 600,000	84,746.603	\$7.08	\$600,000	\$7.070	\$599,158 100.0%	(\$842)	\$14,237	2.38%
i otal global opportunities			\$600,000		\$599,158 100.0%	(\$842)	\$14,237	2.38%

Statement dated December 31, 2009 HANDLEMAN FDN B DISCLAIMED IMA

Estimated Current annual income yield		\$1,769 0.88%	\$1,769 0.88%	
Unrealized gain/loss		\$536	\$536	
Percent of asset Market value class		\$200,536 100.0%	\$200,536 100.0%	
Market value per share/unit		\$9.860		
Tax cost		\$200,000	\$200,000	
Average tax cost per share/unit	i	\$9.83		
Shares/units		20,338.361		
Real Return / Commodities	Real return funds	OLD WESTBURY REAL RETRN FD BOOK COST 200,000	Total real return / commodities	

## Form **8868**

(Rev. April 2009)

Department of the Treasury Internal Revenue Service

# Application for Extension of Time To File an Exempt Organization Return

File a separate application for each return.

OMB No. 1545-1709

Form 8868 (Rev. 4-2009)

	ou are filing for an Automatic 3-Month Extension, complete only Part I and check this box ou are filing for an Additional (Not Automatic) 3-Month Extension, complete only Part II (on page 2 of this	form)	<b>▶</b> X
Do n	ot complete Part II unless you have already been granted an automatic 3-month extension on a previously fi	led Fo	orm 8868.
Par	Automatic 3-Month Extension of Time. Only submit original (no copies needed).		
A cor Part I	poration required to file Form 990-T and requesting an automatic 6-month extension - check this box and con only	nplete	<b>&gt;</b>
	ner corporations (including 1120-C filers), partnerships, REMICs, and trusts must use Form 7004 to request ar Income tax returns	exter	nsion of time
noted (not a you n	ronic Filing (e-file). Generally, you can electronically file Form 8868 if you want a 3-month automatic extension below (6 months for a corporation required to file Form 990-T). However, you cannot file Form 8868 electron utomatic) 3-month extension or (2) you file Forms 990-BL, 6069, or 8870, group returns, or a composite or consist submit the fully completed and signed page 2 (Part II) of Form 8868. For more details on the electronic files. gov/efile and click on e-file for Chanties & Nonprofits	ically r nsolid	f (1) you want the additional ated Form 990-T. Instead,
Type print	JOSEPH & SALLY HANDLEMAN CHARITABLE		loyer identification number
File by due dat filing yo	e for Number, street, and room or suite no. If a P O. box, see instructions.		5-6263327
return :	566		
	Form 990-EZ Form 990-T (trust other than above)  Form 990-PF Form 1041-A  Form 990-EX Form 1041-A  Form 990-PF Form 1041-A	27 169	
Tel	ephone No  \( \bigsize \frac{(212)708-9100}{\text{FAX No.}} \)  the organization does not have an office or place of business in the United States, check this box has so for a Group Return, enter the organization's four digit Group Exemption Number (GEN) . If this		r the whole group, check this
	I request an automatic 3-month (6-months for a corporation required to file Form 990-T) extension of time unt AUGUST 15, 2010, to file the exempt organization return for the organization named a is for the organization's return for:    X   Calendar year 2009   or  , and ending		The extension
2	If this tax year is for less than 12 months, check reason: Initial return Final return		Change in accounting period
	If this application is for Form 990-BL, 990-PF, 990-T, 4720, or 6069, enter the tentative tax, less any nonrefundable credits. See instructions.	За	\$
	If this application is for Form 990-PF or 990-T, enter any refundable credits and estimated tax payments made. Include any prior year overpayment allowed as a credit.	3ь	\$ - <b>\$</b>
С	Balance Due. Subtract line 3b from line 3a. Include your payment with this form, or, if required, deposit with FTD coupon or, if required, by using EFTPS (Electronic Federal Tax Payment System).	10 mg	2 000
_	See instructions.	3c_	
Cauti	on. If you are going to make an electronic fund withdrawal with this Form 8868, see Form 8453-EO and Form	8879∙l	EO for payment instructions.

LHA

For Privacy Act and Paperwork Reduction Act Notice, see Instructions.

Form 8868 (Rev 4-2009)	_			Page 2
• If you are filing for an Additional (Not Automatic) 3-Month Extension, complete only Part II and chee	ck this box	ζ	<b>•</b>	X
Note. Only complete Part II if you have already been granted an automatic 3-month extension on a previo			88.	
If you are filing for an Automatic 3-Month Extension, complete only Part I (on page 1).				
Part II Additional (Not Automatic) 3-Month Extension of Time. Only file the original control of the control of	nal (no co	pies nee	ded).	
Name of Exempt Organization  Type or		<b>Employ</b>	er identification	number
POSEPH & SALLY HANDLEMAN CHARITABLE				
FOUNDATION TRUST		65-	-6263327	
Number, street, and room or suite no. If a P.O. box, see instructions.  due date for C/O BESSEMER TRUST, 630 FIFTH AVENUE	0,327	For IRS	use only	
filing the return See Instructions NEW YORK, NY 10111	······································			<del>, , , , , , , , , , , , , , , , , , , </del>
Check type of return to be filed (File a separate application for each return):			······	***************************************
Form 990 Form 990-EZ Form 990-T (sec. 401(a) or 408(a) trust) Form 104	41-A [	Form	5227 F	orm 8870
Form 990-BL X Form 990-PF Form 990-T (trust other than above) Form 472		= ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` `	6069	
STOP! Do not complete Part II if you were not already granted an automatic 3-month extension on a	previous	ly filed f	orm 8868.	
BESSEMER TRUST CO.				
• The books are in the care of ▶ 222 ROYAL PALM WAY, PALM BEACH, FL	- 33	3480		
Telephone No. ► (212) 708-9100 FAX No. ►				
If the organization does not have an office or place of business in the United States, check this box				
If this is for a Group Return, enter the organization's four digit Group Exemption Number (GEN)	. If this	s is for th	e whole group, o	heck this
box ► If it is for part of the group, check this box ► and attach a list with the names and E				
4 Trequest an additional 3-month extension of time until NOVEMBER 15, 2010				
5 For calendar year 2009, or other tax year beginning, and	ending			
6 If this tax year is for less than 12 months, check reason: Initial return Final return	Jrn	Ch	ange in accounti	ng period
7 State in detail why you need the extension				
INFORMATION NEEDED TO FILE A COMPLETE AND ACCURATI	E RETU	JRN ]	IS NOT YE	T
AVAILABLE.			_	
8a If this application is for Form 990-BL, 990-PF, 990-T, 4720, or 6069, enter the tentative tax, less any	1			
nonrefundable credits. See instructions.		8a \$	. 4	,025.
b If this application is for Form 990-PF, 990-T, 4720, or 6069, enter any refundable credits and estima	ted			
tax payments made. Include any prior year overpayment allowed as a credit and any amount paid				
previously with Form 8868.		8b \$	<u>. 4</u>	<u>,779.</u>
c Balance Due. Subtract line 8b from line 8a. Include your payment with this form, or, if required, dep	oosit			
with FTD coupon or, if required, by using EFTPS (Electronic Federal Tax Payment System). See inst	ructions.	8c \$	S	0.
Signature and Verification				
Under penalties of perjury, I declare that I have examined this form, including accompanying schedules and statements, it is true, correct, and complete, and that I am authorized to prepare this form	, and to the	best of m	y knowledge and b	elief, /
Signature > Taron Shop Title > Lagut		Date >	8/10/	// 0
Signature / Little / Little		Date P	Form <b>8868</b> (F	Rev 4-2009)